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AP - Chapter 20 Review
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V I R P

V = IR I = q/t R = ρL/A
R = Ro(1 + α(T-To)

P = IV

P = I2R

P = V2/R
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Parallel Series
mulitple paths ONE path

1/Rt = Σ1/Ri (R   ) Rt = ΣRi (R   )

It =ΣIi It = Ii

Vt = Vi Vt =ΣVi

Ct = ΣCi (C   ) 1/Ct = Σ1/Ci (C   )
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Kirchoff

ΣV = 0

battery +            -  = +

battery -             + = -

resistor  = - (unless I opposite loop)
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Equivalent Resistance

***do what you know FOR SURE first

*** pay attentions to

> I(Total) vs I (through specific resistor 
or path

> V(Total) vs V (Across ONE branch)

> R (Total) vs R (of one part, one 
resistor)
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